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QUESTION 1

Which statement is NOT correct about the Fitted Line Plot shown here?

Fitted Line Plot
Yield = 13.31 - 9.262 Reactant
+ 4,888 Reactart®* 2 - 0, 2509 Feactant™* 3
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A. The independent variable is the reactant

B. If the reactant was 10 units, with 95% confidence we would expect a minimum yield of 148 units

C. With at least 95% confidence, we can expect less than 10 units of Yield when the reactant is at a value of 1
D. A reactant value between 6 and 8 units yields around 40 to 60

E. When the reactant increases, the expected yield would increase

Correct Answer: D

QUESTION 2

Find the value of (13) in the ANOVA table. Assume:
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o = 0.10:

ANOVA Table
Source SS clf MS Frato Ferit P-value
X 1.48 1 (1) (2) (3) (4)
Y 18.6 1 (5) (6) (7) (8)
XxY 12.2 1 9) (10) (11) (12)
Error 2. 4

A.16.4
B. 3.2
C.18.6
D.23.2
E. 4.54
F.12.2
G. 0.525
H. 2.82
1.1.48
J. 354

K. 0.10
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